A

% MODEL VCT PROJ. NO. A ML-10066
BILL OF MATERIAL ssue A ] 1 1 1 1 I [ T T |sueer 1 oF 4 sweers
QUAN.
PART NO. . 4 DESCRIPTION REMARKS
EQUIP.
o | T4100-3 2 BOARD: terminal. barrier type, three 6-32 x 4"
T binding head machine screws E101, E102
< T™M105-3-A-R 2 Fanning Strip: For TIM100-3
'2 CN10005-2 2 CAPACITOR: fixed, ceramic, .27mfd, 400V DCW €101, Cl04
5 v
CC10002-1 2 CAPACITCR: fixed, ceramie, dise, .01 mfd, 500V Cl02, C103
S CE52E200R 1 CAPACITOR: fixed, cylindrical electrolytic, 2 x 20
;: mfd, 450V, Pyramid CE52E200R Cl05A, Cl05B
F
O | Fx10012 ) § FILTER: low pass, 600 ohm input and output, 2000
¢/s Gommunication Accessories Co. 90-0740-00 FX101
FU-100-. 500 2 FUSE: cartridge, 0.5 amp, 250V F101
FH103 2 HOLDER: fuse, extractor post type; length 2-9/16" XF101
0 JJ-100 d RECEPTACLE: male twist lock, 250V AC 10 amp Hubbell J101
E TF5000 CHOKE: filter, TF5000 1101
E RC20GF101K : ¢ RESIST(R: fixed, composition, 100 ohm + 10%, 1/2w R101
| Rvaatsatosa 1 | POTENTIOMETER: carbon 100K ohm .2W R102
§ RC20GF47 3K 2 RESISTOR: fixed, composition, 47K ohm + 10% 1/2w R103, R106
N\S| Rre206F821K 2 RESISTOR: fixed, composition, 820 ohm + 10% 1/2w R104, R107
—
Ol rezo6r103k 1 RESISTOR: fixed, composition, 10K ohm + 10%, 1W R105
= RC20GF47 2K 1 RESISTOR: fixed, composition, 4,7K ohm + 10%, 1/2w R108
l_
ST22K 1 SWITCH: toggle, DSPT, 1 amp, 250V, 28 degrees S101
TF112 1 TRANSFORMER: CG-134, UTC or H-19A UTC T101 :
TF10015 2 TRANSFORMER: Hammond 804 T102 \\ 4o L
l T A
L APPLICABLE SPECIFICATIONS, LAST PAGE — 1 CHECKED _ l(. LU‘(‘,G:LMQ;’( APPROVED “ \/J\C(

FORM 131




A R MODEL VCT PROJ. NO. Py ML-10066
maug,, B A A ] e R AR A SHEET 2 OF 4 sHEETs
QUAN. "
PART NO. SNE DESCRIPTION REMARKS
EQUIP.
TF=126 2§ TRANSFORMER : T103
(0]
0<: 12AU7 1 TUBE: electron, V10l
'_
g 6X4 i & TUBE: electron, V102
.| Ts=102-p01 : § SOCKET: 7 pin miniature, moulded thermo setting
;: plastic insulation XV102
ﬁ TS=103-P01 X SOCKET: 9 pin miniature, moulded thermo setting
'6 plastic insulation XvViol
TS=-101-PO1 1 SOCKET: octal base, moulded thermo setting plastiec
insulation XC105
BI-104-44 1 LAMP: incandescent bayonet base, 6-8V, 25 amp, T-
3 1 /4 bulb 1101
0 A10172 1 | PANEL: front LSS SR
L
1 MS-10252 | 1 CHASSIS:
= MS-10253 1 BARRIER:
,’:I TE-115-2 3 Terminal Turret
\§ NT-101-4 ) | STRAP, nut, 7 pin
E NT-101-5 1 STRAP, nut, 9 pin
LE) TS=102~U03 1 SHIELD: tube
l'- TS=103=U03 h § SHIELD: tube
TE=104~1 1 SOLDER LUG: No.4
TE=104-~2 8 SOLDER LUG: NO.6 \
TE~104=3 1 SOLDER LUG: No.8 Poiag
L APPLICABLE SPECIFICATIONS. LAST PAGE — 1 CHECKED ,(( Mo G APPROVED | \TYS &

FORM 131




T M C(%anade)LIMITED

MODEL VCT PROJ. NO. LisT No.___ ME=10066
BILL OF MATERIAL issue |\ | ey s [ T T |sueer 8 oF B sueers
QUAN.
PART NO. i DESCRIPTION REMARKS
EQUIP.
6 WASHER: lock, internal No.4
O 15 | WASHER: lock, internal No.6
le- b g WASHER: lock, internal No.8
7 SCREW: No.4-32 x 3/16"
‘;f 4 | SCREW: No.4-32 x 7/32"
E 8 SCREW: No.6-32 x 9/16"
i 20 SCREW: No.8-32 x 7/16"
b SCREW: No.8-32 x 1/2" flat head
10 | SCREW: No.8-32 x 3/8"
21 NUT: No.6-32
18 NUT: No.8-32
12 NUT: speed, 6-32
.CA-10072 WIRE: 22, white
.CA-10072 WIRE: 22, grey
.CK-10257 WIRE: 22, brown
.CK-10257 WIRE: 22, red
CK-10257 WIRE: 22, shielded
.NP-10001 NAMEPLATE: 3" x 2"
L SCREW: self tapping 3-56 :
.MS-10257 2 COVER: dust
T_ APPLICABLE SPECIFICATIONS, LAST PAGE —T CHECKED ({ KLL CL,"(IL(ﬁ APPROVEDIL AN XL

FORM 131




MODEL VCT

PROJ. NO. LisT No.__ ML-10066
N (P I NI ssue A [ | ] ] B L R SHEET 4 OF 4 SHEETS
QUAN.
PART NO. i DESCRIPTION REMARKS
EQUIP.

3 1 | PLUG: snaphole, 1/2"

x

ﬁ 1 CORD ASSEMBLY: AC line, Cornish Wire Co. No. 1628

&

(0]

<

2

<

l—

l—

(0]

0

w

-

=

AL

—

§

%

g ]
T AppLicABLE sPEciFicATIONS. LAST PAGE — 1 CHECKED : L_\ Lt approvED | \'{"' : —

FORM 131




REVISION SHEET

THE TECHNICAL MATERIEL CORP.

MAMARONECK NEW YORK ML-10066
moDEL _VCT PROJECT NO.
DATE REV: PAGE | EMN # DESCRIPTION CHK. >_u\v.
2/21/61 A 1&2 6106 | Add missing part No's. on sheets 1 & 2. M
—
2 On A10172, add reference LD10045 S

TMC FORM 1B4-A - OGILVIE PRESS, INC. NO 439M TYPEMASTER




